T | aBRIAN (d=F) RF—2/ F=TNHLX 100%100
A Motorized Swivel (Tilt) Stages / Table Size 100x 100

RERA

Manual
Stage

SA10A-R2TO1 SA10A-R2BO1 SA10A-R2S01
SA10A-R2MO1 SA10A-R2LO1

[ElEn

Rotation

@ SA10A-R2TO1

CW Limit Sensor
AR Home Position 8-M4 Depth 6mm
(O=%) CCW Limit Sensor
Swivel Ty
(Tilt) Sy
BEES ~ @ @ =
27— -
Motorized
Stage

X-XY °o ]| (©) L
X XY 7

=MH
Back Side

117.7
100
2
60
|
@

i

(
-
\
E
R

¢ 5H8 Depth 5mm

&
o 60 Depth 5mm /_ |
- 90 60

(19.5) 100 (102)
Z (221.5)

Rotation Center @ SA10A-R2MO1 @ SA10A-R2BO1
otation Center.

i Rotation Center Rotation Center

=3 | ¥
Rotation |

95
o
=

10y
134
172

ZAAI ! _
(I=%) D i ® [T

Swivel I i

(Tilt) v - S Y v I

754 4-for M4 screw 090 o 8 [ L i il ooA ®  maqm @
S haft length k][ il 4.

SIS Shaft length 6mm —1 L mv fil Wr

ATF—Y 4-for M4 screw /| 090 @

XY6 Shaft length 6mm 4-for M4 screw 090

Shaft length 61
B @ SA10A-R2S01 aft length 6mm

AF=
Vacuum
Stage

(42)
I
|
|

(
?%
(42)

(42)

=|
7 Back Side

HlfHI=E

Control ° 8-M4 Depth 6mm [ \ Depth 5mm_~~ | Dl f
Electron- E
o = o 3 ° = °

(102)

W
]
iy
60

(221.5)

Motor
Controller

ics FEy ) o= =
== i e i Z - @s 3 N /[
Jvho-5 * @ = .[

100
90
60

|
090
°

[N PAY S S

Ry IR ® = = © I

g{)l:er T E 4-for M4 screw
60 Shaft length 6mm

77U 90

T=vay 1295) 100 o (102)

Applica- (221.5)

tion

E—5—

l\:;o'r”\ Rotation Center 0 SA10A-R2L01 Rotation Center

Driver
E=/=
T—=2
Motor 50/

Cable \TT R
18R e

Appendix -

o

:
\
e

[fo5)

¢ 5H8 Depth 5mm

>

95
Q
=
134

ge'
v
=R
|

(42)

38

7t
JU—
Accesso-
ries

(42)
(84)

.38

RE
VAT I
Inspection
System

K-022 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



ZIV: /oaAQ—=FHL K / K=z EE@

Aluminum Body / Cross-Roller Guide / Ball Screw

X

M SA10A-R2TO1 SA10A-R2MO1 SA10A-R2BO1 SA10A-R2S01 31 SA10A-R2LO1 %2
odel Number
BFELEK %3 SA10A-R2T01-R SA10A-R2MO1-R SA10A-R2B0O1-R SA10A-R2S01-R SA10A-R2LO1-R
Mirror Model Number
F—7)E
Table Size 100mmx100mm
ES0 Pk HBEI/OZAO—FH4/R
Guide Mechanism Cross-Roller Guide
[E|2REE R o o o 0 0 0 0
N e — +5 +4 +3 +5°(R2T01), £4°(R2MO1) |+4° (R2M01), £3°(R2B01)
EYHR R—=ILbx, J—K1.0mm

Lead Mechanism

Ball Screw, Lead 1.0mm

TIV/IN=T ATV o o o o o . |~0.000566°/0.000283°(R2T01), |~0.000412°/0.000206°(R2MO1),
ARAe | Full/Halr step | ~0000568" /0000263 | -0.000412" /0.000206" | -0.000328" /0.000T815" |_500041/0000206 RO ) -0.000323'/0.00016:15'R2801)
Resolution = | Y(/AATY7 (1/20%8)) o o ® ~0.0000283°(R2T01), | ~0.0000206°(R2MO1),
Micro Step (1/20 div) | ~0:0000283 ShlprreEE -ooTiElE ~00.0000206°(R2M01) | ~0.00001615°(R2BO1)
RERE 5.66° /sec : Half 4.11° /sec : Half 3.23° /sec : Half 5.66°/sec (R2T01), 4.11°/sec(R2MO1),
Maximum Speed 20kpps 20kpps 20kpps 4.11°/sec(R2MO1): Half 20kpps|3.23°/sec (R2B01): Half 20kpps
D—=ITAAEA
Work Distance 95mm=0.2mm 134mm=0.2mm 172mm=0.2mm 95mm=0.4mm 134mm=0.4mm
B OEME 5 3 3 5 .
Rotation Center Error ®»0.05mm/£5 ¢0.05mm/£4 ®0.05mm/£3 ¢0.1mm/£4 ®0.1mm/£3
R ERDIERE <+0.001° <+0.001° <+0.001° <+0.001° <+0.001°
Repeatability
RANE- =2 <0.002° <0.002° <0.002° <0.002° <0.002°
ost Motion
g Zya <0.002° <0.002° <0.002° <0.002° <0.002°
acklash
M == /l\_ﬂlﬂ& X 0.02arcsec/N-cm 0.02arcsec/N-cm 0.02arcsec/N-cm 0.06arcsec/N-cm 0.06arcsec/N-cm
loment Load Stiffness
I E
Load Capacity (Horizontal) 98N (10kgf) 78.4N (8ksgf)
7= FIIE
Material Aluminum Alloy
Fay Bt bl
Finish Clear-Matt Anodizing
BHE
Weight 2.0kg 2.0kg 2.0kg 4.0kg 4.0kg

SHATFYEVTE—R—
5 Phase Stepper Motor

PK544PMB (A I &I E—42—: EHRER 0.75A/H,EXRT Y7 0.36°, U—NE5K)
PK544HPMB (Oriental Motor: Phase Current 0.75A, Basic Step Angle 0.36°, 5-Leads)

E—X—#E ®5mm AT av/\URIL A type
Motor Shaft Diameter P5mm Conformance option handle: A type
mE S #FZ20E> (EO+: RP13A-12RA-20PC)
Connector 20Pin Round (Hirose: RP13A-12RA-20PC)
AT —IEREAT
Stage Wiring Type e V3
T ERER

Sensor Model

F-101(HOME LIMIT)

) —=20") ZEHREE

Clean Room Lubricant Model Number

SA10A-R2T01-C

SA10A-R2MO1-C

SA10A-R2B01-C

SA10A-R2S01-C

SA10A-R2LO1-C

BZ2J!) AR

Vacuum Lubricant Model Number

SA10A-R2T0O1-V

SA10A-R2MO1-V

SA10A-R2BO1-V

SA10A-R2S01-V

SA10A-R2LO1-V

%1

SA10A-R2S01(. SA10A-R2TO1 £SA10A-R2MO1 DA EHETY .

Combination of SA10A-R2T01 and SA10A-R2MO1 form 2-axes swivel stage

model SA10A-R2S01.
%2

SA10A-R2LO1I%. SA10A-R2MO1E£SA10A-R2BO1 DiEAEHETT .

Combination of SA1I0A-R2M01 and SA10A-R2BO1 form 2-axes swivel stage

model SA10A-R2LO1.
*3

%6
BFEV. EROEBFICOVTIIK-005N—228BLTTE.

Refer to page K-005 for Information on Standard and Mirror Symmetry

Configuration.

o F—N—KR-BIKGRBRAEEENE LA,

TTFELN,

Additional parts cost is not included on Overhaul

further information.

o 7 =>J) AHROBRERRIC -C" PFEET.
3

BRUTTE,

FHBICOVWTIKIBN=YEBRL

cost. Refer to page 16 for

FMIC DV TIXC-005X—2

Clean room lubricant model has “-C” at the end of model number. Page C-005 for

further information.

o HZ2J Y AHHROBRIERRIC V" PHFEET. FMRICOVTIEC-005N— %2

RLUTTEL,

Vacuum lubricant model has “-V” at the end of model number. Page C-005 for

further information

) - —HEOFHAIC DN TIFC-004N—2 BB LTI EL,
Page C-004 for further information about motor change.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

x4

%5

Stage is inspected by half step setting.

AT —VDBREIN-T ATV T TITo>THEVET.
A NIWAT—DEEOETE—X > MRIERFO—BEERYET,

Moment Stiffness of single swivel stage is measured in Roll Direction.

AT —AEROFMIC DO TIEN-026~N-0272 BB L TF XN,

Refer to page N-026~N-027 for stage wiring connection information.

WETBE—FZ—IY hO—F « RTANCDVWTIEN-002X—2ZBR L TTFEL,

Refer to page N-002 for information on corresponding motor controller and driver.

M T BE—R—T—TIIDVTIEN-014~N-015R—=U% B8R L TFEL,

Refer to page N-014~N-015 for information on corresponding motor cable.

PEEDIERLICKYRAOBWESEY ET. F L EFERBETHHVEDET I,

We appreciate the product customizing. Contact us for further information.

FI7EYVIZDVWTIRO-00IN—=22B8B L TREL,
Refer to page 0-001 for information on accessory.

Refer to page 0-008 for information on Option Handle.

2MATYEY T E—R—FEEVET,

2 phase stepper motor is available.

[E-mail] sale@kohzu.co.jp [URL]

o F72a> N\ RILFO-008X—2 & BB L TTEL,

www.kohzu.co.jp

AT I
K@

System
Products

EXR

Industrial

RERA
Experi-
mental

X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

BEE
25—

Motorized
Stage
X-XY
XeXY

[ElEA

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

K-023



